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QUESTION 1

Which statement describes a Content Delivery Network?

A. A network of servers on the internet with websites running with high speed connections

B. A file server that is in the user geographical location closest to them to speed up transfer of data

C. A distributed server network that delivers temporarily stored or cached copies of website content to users based on
the user\\'s geographic location

D. A distributed server network that delivers temporarily stored or cached copies of website content to users based on
the user\\'s geographic location

Correct Answer: B

QUESTION 2

Which two VMware products can be used in IBM Cloud? (Choose two.)
A. VSAN

B. Windows Server

C. NSX

D. CentOS

E. Ubuntu Linux

Correct Answer: AC

QUESTION 3

Which advantages are provided by IBM Cloud\\'s databases?

A. Makes more accurate predictions, automate decisions and processes
B. Easily connect applications and data across multiple clouds

C. High availability, enhanced security, and flexible, scalable performance
D. Easily analyze data and build machine learning models

Correct Answer: C

QUESTION 4

Which two public clouds provide Red Hat Managed OpenShift instances? (Choose two.)
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A. Microsoft Azure
B. Corda Cloud

C. Oracle Cloud
D. Google Cloud
E. El AWS

Correct Answer: AD

QUESTION 5

A company has decided to implement cloud computing service models (laaS, PaaS, SaaS), and is defining the right
persona to use each of them.

Who will be the typical user for laaS?
A. Sales Engineer

B. Line of Business user

C. System Administrator

D. Developer

Correct Answer: C
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